= O
N & o & AF &2 H Ml A
A SEAS A
M Gt 2
Chel: St=X2AE 29 (&9 HM
_ _ _ AT
FAH-FH-SASA) - NRAE - BE=Z O AF K lOﬁ/l\_Fo” Hlw &2
A A 10,436,566 15,284,787 A4,848,221
2 5,474,000
i 4,962,566
ot=& Ztel 7,924,915 12,537,700 A4,612,785
=2 3,770,000
= 4,154,915
ot=XelAld 24 905,480 1,540,178 A 634,698
SEHQ SIAMGL 29 46,591 35,841 10,750
201 LetEIH| 14,291 13,541 750
01 AtR22/H] 4,965 4,215 750
< dek=ZHl > 0
o HAEE 7¢ 25,000 * 208 * 23l 1,000
< =l > 0
o Ags g 75,000 » 7& * 12/ 525
o & 2 80,000 » 7& 12/ 560
o A% £ 40,000 » 7& * 13 280
o M= Y 40,000 » 29 * 18] 80
< =gl > 0
o St=HMelAldzelge =
7,000 » 5 » 72 2,520
02 25234l 9,326 9,326 0
<HzHl > 0
o ANRS Y- KR
905 » 922|& « 100€ 8,326
< A EHIR XYl > 0
o HAL Y F2|AF AIZEHl KX
1,000,000 * 14! 1,000
202 O4Hl 4,000 5,000 21,000
01 =AYl 4,000 5,000 A 1,000
o EAAMGA Z2PR =X
20,000 = 59 « 40 4,000
207 AN 6,300 0 6,300
02 & AR 6,300 0 6,300
o HaIZzH Xl 200,000 = 12& 2,400
o HAMAN T2 P2 3,900,000 » 14 3,900
401 NEHIL 2O 22,000 17,000 5,000
01 Al&H| 22,000 17,000 5,000
o Zels HESAHF L 6,000,000 * 14! 6,000
o AL LA B 10,000,000 * 14 10,000
o St=HMelAld 2elAt B2 wil
1,000,000 = 4CH 4,000
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SN S#IAGA
Za: ot el
E©el: StedelAe 2¢ (ol &e)
- _ o AT
SN -3 S2ARAH) - MFAY - BES Ofl &F <4 Ol & o8 HlunsSZ
o StHMElAE ZelAh =SAIH DA
2,000,000 * 1742 2,000
e =XF2 x4 46,632 48,873 N2,241
101 Ql24d| 14,592 13,833 759
04 JIZHZE2NEE+ 14,592 13,833 759
o X ALze & =4
33,740 * 4% x 452 6,074
o zrizel 33,740 * 2% = 1002 6,748
o A4 BEE 12,822,000 * 13.8% 1,770
201 ety 4,260 4,260 0
02 3329l 4,260 4,260 0
< g=Hl > 0
o T=4 03I RF
1,500 * 202lEf * 112 23] 660
o SXHA TLAI RFY
1,500 * 20216 * 102 23] 600
< AEZHIRAH > 0
o RZIIA |AEe 125,000 * 4& 500
o Atdazel B gitz 500,000 * 53 2,500
202 OiHl 1,280 1,280 0
01 2ol 1,280 1,280 0
o O ¢ XAz =T
20,000 * 4% » 162 1,280
206 M2 6,500 6,500 0
01 MHZH 6.500 6,500 0
o XIRURIIEHIE - HELHHM
600,000 * 55 3,000
o XHE S (HaUSR 2 45)
20,000 * 5& = 2074 2,000
o AtAFH ZAXHE SA 500,000 * 35 1,500
401 AlZBIL ST 20,000 20,000 0
01 Al&H] 20,000 20,000 0
o XIF+[A2A(HE LHS) 5,000
- &3 700 * 5,000% 3,500
- oM & HE 500 = 3,000 1,500
o TEMA & £F &2l 5,000,000 * 28 10,000
o RFRTLRN ze(F¥32 S)
5,000,000 * 12 5,000
HI| - HZ - JIHEH 2H2e 453,972 1,100,346 646,374
201 ety 158,912 149,532 9,380
01 Ar2R2relt] 18,532 2,520 16,012
< Let=Edl > 0
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SN

SHE A A
M Ste& 22|
R =X (el &2
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
o ZYSHA HULEE EY S
180,000 * 35 * 23| 1,080
o B2J|& AYFHUAAL 1,200,000 * 13] 1,200
o MIIANEZ, I & A3A =2
1,000,000 * 23] 2,000
o MHI| =83 ord&2| X &3 I
200,000 * 13 200
o ArHOFA 22| X A3 H| 300,000 * 13| 300
o oleHMelAlE JI|otNee a2
511,000 = 12& 6,132
o EgIotd 2t g3l 50,000 * 13| 50
o gt A= 83| 50,000 * 13 50
o EINH HEHAIE 200,000 * 13 200
o FI| oFF LAANAEY MER
200,000 * 20 = 12€ 4,800
<2zl > 0
o BaHeNL FI| L oEBRASR EX
7,000 *» 5 » 72 2,520
02 =294l 140,380 147,012 N6,632
< SSQaYLHA > 0
o olEHMelAld EII2 139, 560
-JIE2s 6,000 * 400kW = 12& 28,800
- AIEZ 71 = 130,000kW * 12& 110,760
< AMEEHIKXH > 0
o ASAIEE AUl L LA 20,000 * 414 820
206 M & H| 3,600 3,600 0
01 M=Hl 3,600 3,600 0
o J|HAH FelA L "WE 40,000 * 40= 1,600
o HHENMAHEE S 2,000
- UAEEIIE | MSHED| S
1,000,000 * 14! 1,000
- &S, BOIH ,ARXE S 50,000 * 204 1,000
307 212t01A 39,960 0 39,960
05 QIZIREZ 39,960 0 39,960
o #ATMS SN+ Aetzel
3,330,000 = 12& 39,960
401 AlEHIZLL20H] 251,500 947,214 AN695,714
01 Al&H| 251,500 947,214 AN695,714
o MI|IHHIE (S0, MCCEH S) 8,500
- £ 2 MCCEH S 5,000,000 * 14! 5,000
- Me&dl A 3,500,000 * 14! 3,500
o J|H&EHI &b 96,000
- 3|M&TrAH|(R.B.C) EHI(HINHE &)
10,000,000 * 3CH 30,000
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SN BBAEA
M G4 2
S staHelAlE 2Y EERL]
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K '@,‘;OH Hlw &2
- SYEZET wu| 6,000,000 * 1CH 6,000
- 228 24 5,000,000 * 10744 50,000
- LB HEH (2E, 28 01 S)
10,000,000 * 14! 10,000
o RYXHX L WIS =& 100,000 * 70 7,000
o AEE 24 130,000
-ANEE 7Y B2 60,000,000 * 14} 60,000
- B 30,000,000 * 14} 30,000
- HIPXES 2A B4 20,000,000 * 14! 20,000
- UEZ2 HOE XY 20,000,000 * 14! 20,000
o HI&H 24(RYBIS 5)
500,000 * 205 10,000
~zpe 67,506 47,147 20,359
101 21244 2,766 2,622 144
04 JIZHH2ERS 4 2,766 2,622 144
o Gt%. Eh BIESHH MY
33,740 * 3% * 242 2,430
o 404 BEE 2,430,000 * 13.8% 336
201 Ypre | 11,000 1,765 9,235
01 At2elt| 11,000 1,765 9,235
< gpragYl > 0
o BIAHE TALSE 250,000 * 43 1,000
o $E4s 2FRX BHZ 5,000,000 * 23] 10,000
202 01l 2,400 4,000 A 1,600
01 20t 2,400 4,000 A 1,600
o +Helge Fa 20,000 * 4% * 302 2,400
206 THEH 24,480 24,760 £280
01 Ml 24,480 24,760 280
o ABOE(HAE 295) 500,000 * 108 5,000
o HEE EXI|T 6,520
- 23 500,000 * 2JH 1,000
- BODZ Sl 65 1,000,000 * 23 2,000
- IHERICIHE A 160,000 * 122 1,920
- Hoym 200,000 * 1% * 43l 800
- BODHI =D/ = 3| Ql H E
400,000 * 1% * 23] 800
o YEs AsHE 180 * 4,000kg * 122 8,640
o SEM(BYaL=0lE)
300 * 1,200 £ * 128 4,320
401 NEHIL 2] 16,000 6,500 9,500
01 Al&Hl 16,000 6,500 9,500
o ASAAE ZH 24 5,000,000 * 14! 5,000

- 474 -




2A: BHEAEA
S Gt=E 22
@2 St=HelAld 29 CEREED
5 o SIEN
2N -3 - c2(3H) - NEME - HES 0] AFCH loﬂ/l\_Fo” Hns
o STANLE B 5,000,000 * 14] 5,000
o AEA JIXM el (FHO0IHL 308)
2,000,000 * 14! 2,000
o AEa H S2tele &R 4,000,000 * 14 4,000
405 XhHaHE SHI 10,860 7,500 3,360
01 At =EF SHI 10,860 7,500 3,360
o 0ls8g 3J183)| 5,000,000 * 14! 5,000
o TE NI 3,500,000 * 14 3,500
o AHAXD| 2,000,000 * 14! 2,000
o M=8 X&EHAH 360,000 * 1CH 360
BHIIZANE EE 15,440 9,000 6,440
201 Et2a| 5,440 4,000 1,440
01 At22telyl 4,440 3,000 1,440
< et 2H| > 0
o BEIIZAIE U=2H EEE2 ME
1,000 = 3,0000H 3,000
o SHIIZAMNE NFEE S FI| AU
40,000 + 3CH » 12& 1,440
02 s394l 1,000 1,000 0
o SANSHALE ZHIKRXH (Z2HEEHA6S
1,000,000 * 14 1,000
401 Al&HIYL2THY] 10,000 5,000 5,000
01 Al&H| 10,000 5,000 5,000
o BEUEHE FH| 10,000,000 * 14] 10,000
FELH2AE 29 22 75,264 68,068 7,196
201 2BEr24d| 36,964 35,368 1,596
01 At22telyl 8,056 6,460 1,596
< YBtZH| > 0
o LFAHAUA =& 1,900
- ELHdEAAM 300,000 * 23| 600
- AEFLHEZEA 1,300,000 * 13] 1,300
o It AL IHH =2 220,000 = 12& 2,640
o HIIANAEZ I & =ANSAM =25
750,000 * 23] 1,500
A =1=3: 10 0
o B XAl g2 =&
7,000 * 4 » 72 2,016
02 s394l 28,908 28,908 0
< BBSLL2YLHA > 0
o ERHAIE I3 28,908
-Jlgsg 6,000 * 250kW % 128 18,000
- ANE2 60.6 * 15,000kW » 12& 10,908
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SN

E\_I‘ /\ =
M Gt 2
Chel: St=X2lAE 29 (&9 HM
_ _ _ MEc
A -3 -H2A(SH) - HEAMY - BES (il & OH loﬂ/lx_FOH Hlw &2
202 OdHl 800 0 800
01 =LA bl 800 0 800
o ZaHMLAE & FE PR =
20,000 » 198 = 40 800
206 M=l 9,400 9,400 0
01 M=H| 9,400 9,400 0
o ZEXMelAld M 4E
3,000 * 4kg » 3002 3,600
o DML 4,000 » 4kg = 300 4,800
o PLCHIOI 2 1,000
- MHAHESEE S 1,000,000 * 14 1,000
307 212t01& 9,600 4,800 4,800
05 2IIRAES 9,600 4,800 4,800
o Z=EEE A Al 800,000 * 123l 9,600
401 A EHIL 2048 18,500 18,500 0
01 Al&HI 18,500 18,500 0
o BEaXelAE 2B 18,500
- @&2HM2Il F42e0 |
3,000,000 » 14! 3,000
- &8JI4H E(S22 & MCC S)
4,000,000 * 14! 4,000
-HER S AZE IAH(HINEY, 2YS)
4,000,000 = 14l 4,000
- EEXelAE EFHAIEL 105 Ehl
2,250,000 » 14 2,250
-dEr B2 Ex 5,250,000 = 14 5,250
=Xl ®el 47,216 40,216 7,000
201 LetEHH| 2,816 2,816 0
01 AFR22lH| 2,816 2,816 0
< Lot=EHl > 0
o =il 4dA =2 200,000 * 43 800
< Sl > 0
o SHXNMe L AL 2 FX
7,000 * 4% « 72 2,016
206 M=l 3,600 3,600 0
01 M=l 3,600 3,600 0
o @x8AF 3,600
- DS 5,000 = 60kg = 12& 3,600
307 QI2t0IA 20,000 20,000 0
05 BIZtRE = 20,000 20,000 0
o ot fEX Y
100,000 * 200& 20,000
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A
T 2
HMelAld 24

_ _ _ N E
SNBSS - MBAY - BES arey G {imE=Eh
401 AIEHIZ 208 20,800 13,800 7,000
01 Al&H| 20,800 13,800 7,000
o gl MEE 20,800
-sdEZ o 1,000,000 = 4CH 4,000
- getEEH Y 200,000 = 504 1,000
- IEZ WX 4,000,000 = 2CH 8,000
- €Al HOWE A 2,000,000 » 14! 2,000
- €30 EFHMA 3,500 * 800kg 2,800
- As s+ el
3,000,000 = 14 3,000
Hot=32ZXeld 2Z 2 152,859 190,687 AN37,828
101 el 5,376 4,015 1,361
04 JIZHMIZ2XNSE =+ 5,376 4,015 1,361
o xZF&e| 33,740 » 10F = 43 1,350
o M=% 33,740 » 20F = 53 3,374
o 40 EE& 4,724,000 = 13.8% 652
201 Lt 72,508 170,715 A98,207
01 AtR2teld] 12,500 29,863 A17,363
< Lot=ZH| > 0
o =AM =22 250,000 * 43| 1,000
o MI|etM 2|kt HEx=+=
270,000 » 123 3,240
o SHAl H2EAMN =2 200,000 * 43| 800
o #FLx FARI 23 5,000,000 = 13 5,000
o SA EYH 50,000 » 63l 300
o ZElH EY 50,000 * 63l 300
o g JIEEXN 2 50,000 * 63l 300
o FAEF 7Y 150,000 * 23] 300
< gl > 0
o MHGt=ELXCALE A2
7,000 = 2% » 90 1,260
02 =234l 60,008 140,852 A80,844
< BELSHEHMA > 0
o StXelAlE D &IIRsS 53,124
-Jl== 6,000 = 300kw * 12& 21,600
- ANEZ 71 = 37,000kw = 123 31,524
o ol=XelAlE &ole=E 23
880 » 20= » 12E8 212
o UBNSRS 100,000 * 23| & * 128 2,400
o HFMT SIEALE
18,000 * 23| & » 12& 432
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SN

A A
T 5+ e
Chel: St=X2lAE 29 o Mg
S HE - S(EH) - NRAY - BES sk oy e 2
o @llY ¥mad MEE
40,000 * 83|& » 123 3,840
202 O4Hl 1,000 0 1,000
01 =Gl 1,000 0 1,000
o HAHBAEBLHNL AR
20,000 » 29 * 25 1,000
206 THEH 10,835 7,117 3,718
01 Mz bl 10,835 7,117 3,718
o XF&e| RIIE HI=E 50,000 » 10 CH 500
= e 40,000 = 15= 600
o Bt lls 4EF 7Y 570 = 500kg 285
o JIE AL 4E 7Y 2,100 = 500Kg 1,050
o EcH 435 +¢ 5,000 = 700kg = 23| 7,000
o M=49 2¢ 120,000 * 102fA 1,200
o XF&e I+ P2 200,000 * 13 200
307 QI2t0IA 55,190 2,340 52,850
05 BIZtRE = 55,190 2,340 52,850
o ote=d Xl fAEX el 100,000 * 194.5& 19,450
o TMSEHI fI &2l 2,498,330 * 123 29,980
o ot+=E&E =™l 700,000 * 63l 4,200
o RoIAH| AAHE E9& 130,000 = 12& 1,560
401 Al&HIL 20| 7,950 0 7,950
01 Al&H| 7,950 0 7,950
o 424 2F Wi 6,150
- B4 2¢ W 250,000 * 5CH 1,250
- dgED Ag Wi 250,000 = 6CH 1,500
- BIOIF Motz wx 400,000 * 7CH 2,800
Md=SEH HIHE WX 100,000 * 6CH 600
o ot+=% MEZRU AZHASI X & B
45,000 * 4000 & 1,800
T=EFEE 201,440 65,760 135,680
QEASH 2 AISEHE 201,440 65,760 135,680
201 et 840 5,760 24,920
01 AtS 22l 840 5,760 24,920
< S EH| > 0
o EsE2 =224 RA2c
7,000 = 2% = 60 840
202 O4Hl 600 0 600
01 =0l 600 0 600
o I HREFA
20,000 » 29 * 152 600




2A: BHEAEA
S Gt=E 22
S 2EASSHAL (&9 HM
_ ) pofEN
2N -3 - c2(3H) - NEME - HES 0] AFCH ‘OH}\_FO” Hns
207 AR | 200,000 60,000 140,000
01 A2E49H| 200,000 60,000 140,000

o +IOUBWR 20 NN 28 89
100,000,000 * 14! 100,000
o RUBFHANBHE 0/BBI}
100,000,000 100,000
E2h ZTHAAL 625,000 375,000 250,000
= 500,000
2 125,000
=2 ZRHANE EXAY 625,000 375,000 250,000
= 500,000
2 125,000
401 AEHILS ] 625,000 375,000 250,000
=2 500,000
2 125,000
01 Al&| 587,625 375,000 212,625
o JIER2LIIHAANE &X
587,625,000 * 14] 587,625
= 500,000
2 87,625
p 22l 32,875 0 32,875
o JE2LBRHANL 22l
32,875,000 * 141 32,875
03 Al& S CHY| 4,500 0 4,500
o IE2LIIHAAL AL
4,500,000 * 14! 4,500
HAZLH2AAL LA 241,000 1,429,000 188,000
=2 869,000
2 372,000
SHENSBEN QWEHAT &3 241,000 1,429,000 188,000
= 869,000
= 372,000
401 Al&HIL 20| 241,000 1,429,000 188,000
= 869,000
2 372,000
01 Al&l 179,550 1,402, 100 A222,550
o SHANSIUX LQHAHAZ L
1,179,550,000 * 14 179,550
= 869,000
2 310,550
02 22l 53,632 21,900 31,732
o SHANSIEUX QHAHAZ SX L2l
53,632,000 * 14} 53,632
03 Al&SOHH| 7,818 5,000 2,818
o SHMNSIUN LQHAHAZ LX A&
CH 7,818,000 * 14! 7,818
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A BEAMEA

ol e 2o
Sl B AHAY KA (el a2

SNBSS - MEAY - BES

22
J2

20
B
2

NeotaRely HA 580,000 0 580,000
= 346,000
2 234,000
ot MOIS AM 280,000 0 280,000
= 196,000
T 84,000
401 AISHIL R 280,000 0 280,000
= 196,000
T 84,000
01 Al£H| 276,976 0 276,976
o SHEZSUHAANE SR> HOIE ALY
276,976,000 * 14! 276,976
= 196,000
z 80,976
02 el 1,008 0 1,008
o SIABLMEAE YRS OIS ALY 22
b 1,008,000 * 14! 1,008
03 Al& =0 2,016 0 2,016
o SIABLMEAE Y24 MO AY AL
S CH 2,016,000 * 14! 2,016
SHGAELHLY DEHE AY 300,000 0 300,000
= 150,000
z 150,000
401 AlAHIL S| 300,000 0 300,000
= 150,000
T 150,000
01 A& 280,508 0 280,508
o SHAZUMANE DEH2 HAZA
280,508,000 * 14! 280,508
= 150,000
z 130,508
02 el 17,332 0 17,332
o StaZLHANL DEHl HEBA 22l
17,332,000 * 14! 17,332
03 Al&= bl 2,160 0 2,160
o StaZLHUNE DEH HEBA AL
CH | 2,160,000 * 14! 2,160
SHEE o QE& el 831,195 439,462 391,733
OISSteRelAlE RXI22 553,857 186,830 367,027
101 ©124H| 1,000 2,250 A1,250
04 JIZH2ERSES 1,000 2,250 A 1,250
o OISstaMEAE HMERY L HA
33,740 = 1% * 26702 878
o 4B E 878,000 * 13.8% 122
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SN
X XH .
S Tt

el

_ _ MNuE o
SH-EH . C(BH) - NRAY - BES Off &F oA il b o bRz
201 2sr2 | 77,837 63,854 13,983
01 Al 22l 3,495 3,189 306
< o=yl > 0
o mei= 1y 75,000 * 5% * 13| 375
o S 2 80,000 * 5% * 13| 400
o meist 7Y 40,000 * 5% 13| 200
<3zl > 0
o DiEsamAlL SN
7,000 * 2% + 1802 2,520
02 32| 74,342 60,665 13,677
<ZZRILHA > 0
o Oi2daHeAL ®IIR3 66,782
-J|=E 4,350 * OKN « 302 * 128 17,853
- N82 58 * 1,850KW * 3IH A * 122 48,929
o DISGt+HRINL SBR2RIWE SHARE
35,000 * 184 * 128 7,560
202 ot 2,000 1,700 300
01 =Uhoitl 2,000 1,700 300
o DI2BaHANL d2EE
20,000 * 2% * 502 2,000
206 T2 bl 2,200 1,966 234
R ET 2,200 1,966 234
o DISot+HAL +EAA W4
120,000 * 10% 1,200
o OtSdtaMeAL T2lA 7Y
40,000 * 255 1,000
307 212t0H 93,600 0 93,600
05 912t9IEr3 93,600 0 93,600
o OiSstaHeIAIL SigRe)
300,000 * 26744 * 122 93,600
401 AIZHIL2CH] 377,220 117,060 260, 160
01 Al&t 373,640 117,060 256,560
o JtRIXIP OFEstaMalA A HY)
8,300,000 * 141 8,300
o NEXT OEstadalAa By
3,000,000 * 141 3,000
o FEXP O2saMINA By
20,920,000 * 14! 20,920
o ZSXP OSstaMalAA By
4,500,000 * 141 4,500
o YRXTP OHSst4MINL By
11,160,000 * 14! 1,160
o MHEXT OEstaMalAa B
22,000,000 * 14! 22,000




A BEAMEA

M St 2l
S o= % QH= 22l EEEEE]
_ _ _ AT
2N -3 - c2(3H) - NEME - HES 0] AFCH ‘Oﬂ/i\_Fo” Hns
o YHAMXF OtSota=HelAld Al
6,500,000 * 14 6,500
o ZFEXP OtSolx=XdelAld A
12,800,000 * 14! 12,800
o MEIXP OtSolx=XMelAld A
15,400,000 * 14 15,400
o RAEXF OtSotx=HelAld |
20,400,000 * 14 20,400
o G&AXF Ot2ot=HelAld Al
5,500,000 * 14 5,500
o 2132 0tSolx=XdelAld A
5,500,000 * 14! 5,500
o NMAEIXP OFsSolx=XMelAld Hd|
15,250,000 * 14 15,250
o OMAEXIF OFS6ts=HelAlE Al
23,000,000 * 14 23,000
o HEXF Ot2otx=H2lAld &yl
6,600,000 * 14 6,600
o PAXP OtSolx=XMelAld A
15,000,000 » 14! 15,000
o SHEAXIF OtSot=HelAld Fbl
6,500,000 = 124 6,500
o HAsY ST OISdts=H2lAlE Al
11,000,000 * 14 11,000
o MEHOKIF OIS5t=HelAlE Al
9,900,000 * 14 9,900
o YAGEX P OtSolx=XelAld A
4,800,000 * 14! 4,800
o XX OFsSolx=XdelAld A
15,750,000 * 14 15,750
o S2X7 0tSotx=HelAld &l
21,400,000 * 14 21,400
o AMXF OtSot=HelAld Jdl
28,320,000 * 14| 28,320
o ZAXP OtSolx=XMelAld A
20,450,000 * 14! 20,450
o WEXP OfsSolx=XMelAld A
14,160,000 * 14 14,160
o AMAXIF OtSota=HelAld Al
28,320,000 * 14 28,320
o OtSotHelAlE SE22CIAIAE FH|
7,000,000 * 142 7,000
o OtSotEXelAlE s XIAeltl
16,000 * 10& * 31 A 4,960
o OtSoteXelAE 228 HetEY
1,050,000 * 5044 5,250
03 AlE&=0HYI 3,580 0 3,580
o OISotEXelAE S84
3,580,000 * 14! 3,580
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A BEAMEA

M St 2l
S o= % QH= 22l EEEEE]

SN EE - ER(EN) - NRAY - BaS sl e HlRE2
=B SX2cl 95,946 24,256 71,690
201 Let2d| 15,346 14,256 1,090
01 AtE22|HI 1,420 1,000 420
< Yuragyl > 0
o BI4BIE DUFI| BIANSLEE
1,000,000 » 13l 1,000
< =gl > 0
o =8I Sl 7,000 » 1€ » 60 420
02 2323l 13,926 13,256 670
<ZZRIUMAM > 0
o =8I N MIILR3 13,260
-JI2= 6,000 * 300kw * 53 9,000
- AMEE 71 * 12,000kw * 53 4,260
o Hi+=8IY M IS 634
-Jl=2 5,280 * 1kw = 128 64
- AMEZ 95 = 500kw » 12& 570
o His=8IZHE Mot=ER23 880 * 3& * 128 32
202 O4Hl 600 0 600
01 =LA bl 600 0 600
o Hi+=BIZZ P2 =& 20,000 ~ 18 * 30 600
401 Al EHIL 2 0HYI 80,000 10,000 70,000
01 Al&HI 80,000 10,000 70,000
o Hi+=BHIE SI &4 5,000,000 * 23 10,000
o Hi=EZd H2AD| WA 60,000,000  1CH 60,000
o His=HIZA A4S JIAEYI
10,000,000 * 14 10,000
SHA LEH=HMelE 249 65,221 55,351 9,870
101 el 24| 2,305 2,185 120
04 JIZHMIZ2XEE =+ 2,305 2,185 120
o SSsSHANLH=HelH 2,025
M= 33,740 » 294 » 10& 675
- SXNEESHMAHY
33,740 » 298 * 123 810
- AXEZHHY 33,740 » 2% * 8%/ 540
o AHEE= 2,025,000 = 13.8% 280
201 LetHH| 8,146 6,999 1,147
01 AtER22/Hl 1,760 512 1,248
<guragy > 0
o SotsSHX sAHNE2E A
250,000 * 23| 500
< SEHl > 0
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A BEAMEA

M St 2l
S o= % QH= 22l EEEEE]
_ _ _ AT
2N -3 - c2(3H) - NEME - HES 0] AFCH ‘Oﬂ/i\_Fo” Hns
o Sg=s3HA QUM E A 2L
7,000 » 1 * 1802 1,260
02 =323l 6,386 6,487 A 101
< BBSILHAA > 0
o Sg=s3HA LQUH2E HMIILS 5,676
-Jl2g 4,350 * 17kw * 12&€ 888
- AEE 60 * 6,650kw *12& 4,788
o ESEsZ2CX DN g QERS
1,750 = 20004 = 12€ 420
< H2H| > 0
o S22 LQESMel & et
905 * 44 * 80 290
202 O4d| 1,000 0 1,000
01 2LHo bl 1,000 0 1,000
o Sols3HA QU+l dE HRFA
20,000 * 1¥ 50 1,000
206 =l 1,870 427 1,443
01 =z 4l 1,870 427 1,443
o S=3HX QUM E FelA X 2
40,000 * 10= 400
o SSts3HA =ZHA Mg 72
120,000 * 18fA 120
o S=s3HA LB AFUE
135,000 * 10 1,350
307 QI2t0l A 1,800 2,340 A540
05 QIZtRE= 1,800 2,340 A540
o sSts3HA QEH+XH2E RoFHIAIAE
29 150,000 * 12& 1,800
401 AlEHIZL 2] 50,100 43,400 6,700
01 Al&H| 50,100 43,400 6,700
o S3ts3HX JIAHAH &l 24,100
- HoE, 2Ys AREWA
1,250,000 * 7CH 8,750
- S LA 4,600,000 * 1CH 4,600
- B2 & 1,850,000 = 1CH 1,850
- HI g2 &yl 2,500,000 * 14 2,500
- A3 4x 700,000 * 14! 700
- AR (AYH,2500)™Y|
4,900,000 * 14 4,900
- WEH| Al 400,000 * 2CH 800
o SSt=s3HA AKX XMlHl 250,000 * 4= 1,000
o ESet=Z2CX )| &X
25,000,000 * 14 25,000
ol== X2l MY 102,861 158,065 A55,204
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A BEAMEA

M otk 2l
&2 ot 2 2QH = 2t EEEEE]
A -3 -H2A(SH) - HEAMY - BES O AFH %Eﬁiﬁ Hos
101 el H] 1,383 1,311 72
04 JIZtMIZ22XsSE =+ 1,383 1,311 72
o ANEAZT Y MHE HE=XH(9.7kn) Q1L
33,740 » 6% * 6 1,215
o AU2E= 1,215,000 * 13.8% 168
201 LetEHH| 11,478 11,754 A276
01 AR 22/l 4,812 4,588 224
< L=l > 0
o AYs 2 75,000 * 49 « 13] 300
o &b 2 80,000 » 49 * 13 320
o Hs 2¢ 40,000 * 4% 13l 160
< =gl > 0
o StxEFELYR =X 7,000 * 4% » 72 2,016
o ot H |2 FA
7,000 » 4% 72 2,016
02 =234l 6,666 7,166 A500
< BE2SEHMA > 0
o ot HAIE SHEZY d8JHE
35,670 = 2) A = 12& 857
o dt+=EE3ldl 1,600,000 * 13l 1,600
o ot HAE SHEZY MRS 4,209
-Jl2s 4,190 = 18KW = 122 906
- ANEZ 642 = 4,300kW = 12& 3,303
401 AlEHIL 20Ul 90,000 145,000 255,000
01 Al&Hl 90,000 145,000 /55,000
o StEmAlZelAY 90,000
- St & & (v=250m") 30,000,000 * 14 30,000
- ot MESHAES 250,000 * 400 &~ 10,000
- Lol FH| 10,000,000 * 5JH 4 50,000
St MHE= RUE S 13,310 14,960 21,650
201 Let2d| 5,160 5,160 0
01 AtS 22/l 2,160 2,160 0
< YptEHl > 0
o ot R23 BFHEX ¥ XM 2L
66,000 * 48t A « 45 1,056
o otxEeas FEF 7Y
50 » 1,000 » 128 600
< =gl > 0
o St AMEZ ZRFE 7,000  2H * 36 504
02 =234l 3,000 3,000 0
< BE2SHHMHA > 0
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A SEAEAL
I‘IiH:

el 2L 2% 2l (e @
MNuE o
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
o BI+ERIDAMLS
250 * 1,00021 * 122 3,000
202 01t 1,700 1,700 0
01 =Ly 01| 1,700 1,700 0
o GILEEAMBE YRFX
20,000 * 1% * 852 1,700
207 2RIl 4,200 3,600 600
02 F AN ] 4,200 3,600 600
o & 54 RIATZIY KXY
700,000 * 6)H S 4,200
401 A &HIL 204 2,250 4,500 A2,250
01 Al&l 2,250 4,500 A2,250
o BIHT ANBRED AIZAS)| £X U Ba
45,000 * 500H 2 2,250
SR L StaZLHT & 1,719,800 8,688,300 6,968,500
= 781,000
2 938,800
SO ST HEIAY 503,800 1,006,300 A502,500
401 AEHIYLS ] 503,800 1,006,300 A502,500
01 Al&| 500,000 1,000,000 500,000
o SOt HYIA (2.0kn)
500,000,000 * 14! 500,000
03 Al& S CHY| 3,800 6,300 A2,500
o SHEETHUIAY =& 3,800
- SOGLTHUIAY FUHLSY
1,300,000 1,300
- SOUGIATHUIAY FLEFH 2,500,000 2,500
BHE YHHEST SRAGSRAI 100,000 700,000 600,000
401 AEHILR ] 100,000 700,000 600,000
01 Al&| 100,000 700,000 600,000
o BHS MY SRAGEBHAIHIA
of D= QA A& Y (2XH2) 100,000,000 * 14! 100,000
A BHERAF AL 1,116,000 532,000 584,000
= 781,000
2 335,000
401 AEHIYLS ] 1,116,000 532,000 584,000
= 781,000
2 335,000
01 Al&| 1,068,648 519,000 549,648
o MNGEZLUMIAL GHEBH FH ALY
1,068,648,000 * 14} 1,068,648
=2 781,000
2 287,648
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SN S#EAIE A
M St 2l
S ot==2H L StSEH2UE & (&2 &
_ N
SM-BH-H2A(FAH) - MIRAY - BES 01l A+oH Oﬁ/?OH Hns2
02 Zeldl 40,322 10,000 30,322
o MAHSHEBLXEAIE St HUIALY 2
2yl 40,322,000 * 14 40,322
03 Al =20HYI 7,030 3,000 4,030
o AASTLXIAIE St H FHIAMY F
& AIE 20 YI 7,030,000 * 14 7,030
272 S33=x=& FEIAMLY 1,821,000 0 1,821,000
= 1,274,000
= 547,000
SStN P ARPotEE HUIALY 968,000 0 968,000
= 677,000
= 291,000
401 AIEHIL 20 968,000 0 968,000
= 677,000
= 291,000
01 Al&HI 960,000 0 960,000
o s A2A20otrE HUIAIS
960,000,000 960,000
= 677,000
= 283,000
03 AI&=2Ul 8,000 0 8,000
o SN ARIoI=E FHIAIY Al 2]
8,000,000 8,000
QEXN P AR26tT HUIAIS 853,000 0 853,000
= 597,000
= 256,000
401 AlEHIL 2] 853,000 0 853,000
= 597,000
= 256,000
01 Al&HI 846,000 0 846,000
o QEXNF AARG+E HHIAIY
846,000,000 846,000
= 597,000
= 249,000
03 A& =2 0HHI 7,000 0 7,000
o QEXNT ARIot=E FHIAIY AIZ20HYI
7,000,000 7,000
HY2IGU(BHEAE L) 68,637 73,559 AN4,922
ol 29| 17,508 20,419 A2,911
ol 29| 17,508 20,419 A2,911
101 124 4| 13,308 16,219 A2,911
01 2= 13,308 16,219 A2,911
< =Y > 0
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SN AN
B BHSAAY (BBALL)
EHel: el eyl (el a2
SN -BH - S(B) - MRAY - BES 0f &k e HRE2
o AA2R4Y
6,931 * 162 * 10AI2 » 128 13,308
203 REZH| 4,200 4,200 0
M4 PAHSYYLETY 4,200 4,200 0
o 3021 0I5t 350,000 * 122 4,200
o= 51,129 53, 140 ~2,011
EET] 51,129 53, 140 ~2,011
201 YBr2 ] 48,929 49,820 £891
01 ARl 35,026 35,572 ~546
< YBragHl > 0
o UHANRBE 7Y 25,000 * 403 1,000
o HR=AI 2E 2 198
- S 9 2242E 450,000 * 13| 450
- €4 187,000 * 1CH * 43l 748
HOIHIRIE EH 200,000 * 7CH * 23l 2,800
AE 118,000 * 1CH * 23] 236
sl E 2 700 * 3004 * 122 252
SAET 2L 25,000 * 62t A » 128 1,800
YYZE 2 150 * 3,0000H 450
NeRss 2,160
=FIVY 15,000 * 45 * 128 720
EIN 10,000 * 125 * 122 1,440
9xg H7 L JIEBSE
90,000 * 2% 23| 360
BAMNYL JIZEE |
250 * 10004 * 122 300
o MTHIIAM £48 50,000 * 23] * 2CH 200
o BIYNY == 60,000 * 73l 420
<egry > 0
o gmLy 50,000 * 188 * 4772 23,850
Iz 13,903 14,248 A345
<ZZRILHA > 0
Hste3 4,860
28 5 120,000 * 2} * 122 2,830
YHYWS SIMABE 25,000 * 3CH * 128 900
EoHAlE HEM(HIHA) AFSE
45,000 * 23] * 128 1,080
Aues 23 40,000 * 122 480
Not4E 23 880 * 50€ * 128 508
SRS 225
Soiew 1,750 » 524 »12% 105
SRR 250 * 402 128 120
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A SEAIE A
Y HFL2IHH(SHAIYL)
&2 I3 (Gt &)
) _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
o EHIWHBLZ 30,000 * 23l 60
< HZH|l > 0
o XN (HEAX HEY) KFHI
1,500 = 30 £ = 1502 6,750
< A& ZFHISXY > 0
o X(HAX, HEW) SXZE
500,000 * 2CH 1,000
202 OfH] 2,200 3,320 A1,120
01 2oy 2,200 3,320 A1,120
o EFAIE BIXI0F2 50,000 * 3 x 22 « 23] 600
o otxHelAlE Sg el
20,000 * 49 x 202 1,600
HEeSS (S AL A) 2,443,014 2,673,528 A230,514
= 1,704,000
= 739,014
[SRShNES 2,443,014 2,673,528 ~230,514
= 1,704,000
= 739,014
BEX= 2,443,014 2,673,528 A230,514
= 1,704,000
= 739,014
311 XY SO0|Krats 365,814 633,128 N267,314
= 238,920
= 126,894
06 JIEHX 20| XHAr& 365,814 633,128 N267,314
o Bt elAla O Ktatst 265,875,000 265,875
= 203,720
= 62,155
o dtazHXIMH2IALY Ol KtAtEH 35,200,000 35,200
= 35,200
o St&XelE oIx2d 64,739,000 64,739
601 XL AS4tE 2,077,200 2,040,400 36,800
= 1,465,080
= 612,120
06 JIEIZ2HXIY 22243 2,077,200 2,040,400 36,800
o StaHelAlY AZatE 2,040,400,000 2,040,400
= 1,428,280
= 612,120
o Bt&SHXMAY 248 36,800,000 36,800
= 36,800
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